CNAWELD

Changzhou ChiNa Welding Equipment Co., Ltd

TEL:0086—-0519—89691819
FAX:0086—0519—-86929398
Email:admin@cz—chinaweld.com




COMPANY PROFILE TABLE OF CONTENTS

Changzhou City ChiNa Welding Equipment Co., Ltd. is a modern enterprise integrating
development, production and sales. The company was established in 2011. With strong technical
force, strong production and perfect testing equipment.Professional production of domestic, Euro and TI G G U N S
American CO2 welding torch and accessories, TIG welding machine, TIG welding torch, plasma
cutting torch , CO2 welding wire, and various welding equipment accessories, and is a member of CNAWELD
China Welding Association. Our company is well-known in the domestic and foreign markets for its
perfect quality assurance system and excellent after-sales service.Our company insist on scientific

TIG9 1-2

and reasonable production planning, strict implementation of quality authorization management,Make
full use of scientific and technological talents, Adopt the advanced equipment of numerical control
processing and production, Keep up with advanced technology and improve continuously. The staff of T|G 1 7 3_4

the whole plant are united,fully implement the post responsibility system, and carry out post process

awareness training,formulate the quality policy of "pursuit of excellence, safety and environmental

protection, customers first",The customer satisfaction rate reaches 100%! TlG 18 5'6
We Build international brand in the quality and innovation combined with market demand as the

guide, rely on advanced technology, with high quality after sale service."Quality casting

TIG 20 7-8

brand,Scientific and technological innovation promotes development ,service to win the market,
integrity to repay the society" is our business philosophy and purpose.

TIG 26 9-10

WEARING PARTS 11-16

Normal Torch Terminations 17-23

Control Wire Plugs&Earth Clamp ... 24

Tungsten Electrodes 25-26

et _\\§
\

[ A 1875 3\ |

. s
1gzhou :




CN/AWELD
TIG 9 TIG TORCH-USA

13N10 | +

41Vv24L

41V33

TIG TORCH-EURO

p— ==,
e

11-1a 11-1b
G -

—
11-2a 11-2b

CNAWELD

iy
1Nt |+ | G 13N20

———
=

13N22/1 3N23'/1 3N24

41V24L

41V33

11-1a 11-1b 11-1
No. Part No. Description No. Part No. Description
1 SR9F Flexible torch boby 9 105257 Power cable adapter
2 SR9 Torch body 10 57Y01R 1pc.rubber power cable 12.5'
3 SR9P Pencil torch boby 57Y03R 1pc.rubber power cable 25'
4 SRI9FV Flexible torch body w/valve 10-1 T-15PFA Cable Fitting 3/8-24 Thd
5 SR9V Torch body w/valve 11 57Y01-2 Optional 2 pc. power cable 12.5'
6 TIGCN Handle 57Y03-2 Optional 2 pc. power cable 25'
TIGCN Handle 111 45V09R Gas hose 12.5' Braided
7-1 BS-1 Snap on swith holder 45V10R Gas hose 25' Braided
7-2 BS-1S Snap on swith holder 45V09 Gas hose 12.5' Vinyl
7-3 H-100 Handle, smooth 45V10 Gas hose 25' Vinyl
7-4 SW-1 Swith w/round button 11-1a D221.R Cable Fitting
8 H-100 Handle, ribbed 11-1b T-1255 Lock Nut 5/8-18RH

No. Part No. Description No. Part No. Description
1 SR9F Flexible torch boby 9 Power Cable 1PC
2 SR9 Torch body 9-1 AR-05-008 Power adaptor D25 New(10-25m?)
3 SROP Pencil torch boby AR-05-008 Power adaptor D25(35-54m?)
4 SRI9FV Flexible torch body w/valve 10 Power Cable 2PC
5 SR9V Torch body w/valve 10-1 AR-05-001 Power adaptor (10-25m?)
6 TIGCN Handle AR-05-003 Power adaptor (35-50m?)
TIGCN Handle 11 Hose fitting
7-1 BS-1 Snap on swith holder 11-1a SR9-EU-1-04 Cable fitting
7-2 BS-1S Snap on swith holder 11-1b SR9-EU-1-05 Lock nut1/4G-19
7-3 H-100 Handle, smooth 11-2a SR18-EU-02 Cable fitting
7-4 SW-1 Swith w/round button 11-2b SR18-EU-01 Lock nut3/8G-19
8 H-100R Handle, ribbed

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.




CN/MWELD

TIG 17

TIG TORCH-USA

G o 10N28| +

10N23/10N24/10N25

i e——— 57Y/02

-y

57Y04

~

10-1

e —

TIG TORCH-EURO CNAWELD

®
- i e— 5702
e +
ON23/10N24/10N25 "] 57Y04
9-1
= E'EQW:"

Ma 1p 11
11-1a 11-1b .

)

-

11-2a 11-2b

11-1a 11-1b 11-1
No. Part No. Description No. Part No. Description
1 SR17F Flexible torch boby 10 57Y01R 1pc.rubber power cable 12.5'
2 SR17 Torch body 57Y03R 1pc.rubber power cable 25'
4 SR17FV Flexible torch body w/valve 10-1 T-15PFA Cable Fitting 3/8-24 Thd
5 SR17V Torch body w/valve 11 57Y01-2 Optional 2 pc. power cable 12.5'
6 TIGCN Handle 57Y03-2 Optional 2 pc. power cable 25'
TIGCN Handle 11-1 45V09R Gas hose 12.5' Braided
7-1 BS-1 Snap on swith holder 45V10R Gas hose 25' Braided
7-2 BS-1S Snap on swith holder 45V09 Gas hose 12.5' Vinyl
7-3 H-100 Handle, smooth 45V10 Gas hose 25' Vinyl
7-4 SW-1 Swith w/round button 11-1a D221.R Cable Fitting
8 H-100R Handle, ribbed 11-1b T-1255 Argon Nut 5/8-18RH
9 105257 Power cable adapter

10-1 10
No. Part No. Description No. Part No. Description
1 SR17F Flexible torch boby 9 AR-05-008 Power adaptor D25 New(10-25m2)
2 SR17 Torch body AR-05-009 Power adaptor D25 New(35-50m?)
4 SR17FV Flexible torch body w/valve 9-1 Power Cable 2PC
5 SR17V Torch body w/valve 10 AR-05-001 Power adaptor (10-25m?)
6 TIGCN Handle AR-05-003 Power adaptor (35-50m?)
TIGCN Handle 11 Hose fitting
7-1 BS-1 Snap on swith holder 11-1a SR9-EU-1-04 Cabile fitting
7-2 BS-1S Snap on swith holder 11-1b SR9-EU-1-05 Lock nut1/4G-19 Thd
7-3 H-100 Handle, smooth 11-2a SR18-EU-02 Cabile fitting
7-4 SW-1 Swith w/round button 11-2b SR18-EU-01 Lock nut3/8G-19
8 H-100R Handle, ribbed
9 Power Cable 1PC

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.




CN/MWELD

TIG 18

TIG TORCH-USA TIG TORCH-EURO CNAWELD

e— 57Y(2
_ 10N48| + 10N28| + T +

10N23/10N24/10N25 “ 57Y04

10a 10b
&;11% e 10-1
P
10-2a 102b 10-2 —
L o §- B e
= -y ﬁz 152?@5'5 12-2

No. Part No. Description No. Part No. Description No. Part No. Description No. Part No. Description

1 SR18F Flexible torch boby 10a 11N38R-A Power Cable Fitting 1 SR18F Flexible torch boby 12 Hose fitting

2 SR18 Torch body 10b T-2082 Power Nut, 7/8-14LH 2 SR18 Torch body 12-1a SR9-EU-1-04 Cable fitting

3 SR18P Pencil torch body 10-1 40V75R Gas hose 12.5', Braided 3 SR18P Pencil torch body 12-1b SR9-EU-1-05 Lock nut 1/4G-19 Thd
4 SR18FV Flexible torch body w/valve 41V30R Gas hose 25', Braided 4 SR18FV Flexible torch body w/valve 12-2a SR18-EU-02 Cable fitting

5 SR18V Torch body w/valve 40V75 Gas hose 12.5', Vinyl 5 SR18V Torch body w/valve 12-2b SR18-EU-01 Lock nut 3/8G-19
6 TIGCN Handle 41V30 Gas hose 25', Vinyl 6 TIGCN Handle

TIGCN Handle 10-1a 53N10A-A Nipple TIGCN Handle

71 BL-1 Snap on swith holder 10-1b T-1255 Argon Nut 5/8-18 RH 71 BL-1 Snap on swith holder
7-2 BL-1S Snap on swith holder 10-2 40V74R Water hose 12.5', Braided 7-2 BL-1S Snap on swith holder
7-3 H-200 Handle, smooth 41V32R Water hose 25', Braided 7-3 H-200 Handle, smooth
7-4 SW-1 Swith w/round button 40V74 Water hose 12.5', Vinyl 7-4 SW-1 Swith w/round button

8 H-200R Handle, ribbed 41V32 Water hose 25', Vinyl 8 H-200R Handle, ribbed

9 45V11 Power cable adapter 10-2a 53N10A-A Nipple 9 Power Cable 1PC

10 40V64R Power cable 12.5',Rubber 10-2b T-1254 Water hose Nut 5/8-18 LH 10 AR-05-008 Power adaptor D25 New(10-25m?)

41V29R Power cable 25',Rubber AR-05-009 Power adaptor D25 (35-50m?)
U domarks are oL REFERENGE GNLY.Tho Shave-mentioned par are made by and for CNAWELD ot gonuine onee. rhdomerk are 10! REFERENGE ONLY.The Sbove.mentionod pars ara made by andfor CNAWEL D ot genine ones. -

CNAWELD is no way affiliated with any orginal manufacturer. CNAWELD is no way affiliated with any orginal manufacturer.



CN/MWELD

TIG 20

TIG TORCH-USA

TIG TORCH-EURO

CNAWELD

41v24L 41V24L

AR 41v33

o e

[ —— ]
e

13N22/13N23/13N24 ‘ 41V33

10a 10b . 10
L - e S
10-1a 10-1b
T PP 10-1 . =
— = _ P e e
12-1a 12-1b  12-1

10-2a 10-2b

A

-~ " 10-2 - -_
ﬁa—- “ S 1?: 15313 o
No. Part No. Description No. Part No. Description No. Part No. Description No. Part No. Description
1 SR20F Flexible torch boby 10a CN-28 Power Cable Fitting 1 SR20F Flexible torch boby 12 Hose fitting
2 SR20 Torch body 10b T-2082 Power Nut, 7/8-14LH 2 SR20 Torch body 12-1a SR9-EU-1-04 Cable fitting
3 SR20P Pencil torch body 10-1 45V09R Gas hose 12.5', Braided 3 SR20P Pencil torch body 12-1b SR9-EU-1-05 Lock nut 1/4G-19 Thd
4 SR20FV Flexible torch body w/valve 41V30R Gas hose 25', Braided 4 SR20FV Flexible torch body w/valve 12-2a SR18-EU-02 Cabile fitting
5 SR20V Torch body w/valve 40V75 Gas hose 12.5', Vinyl 5 SR20V Torch body w/valve 12-2b SR18-EU-01 Lock nut 3/8G-19
6 TIGCN Handle 41V30 Gas hose 25', Vinyl 6 TIGCN Handle
TIGCN Handle 10-1a D221.R Nipple TIGCN Handle
71 BL-1 Snap on swith holder 10-1b T-1255 Argon Nut 5/8-18 RH 7-1 BL-1 Snap on swith holder
7-2 BL-1S Snap on swith holder 10 45V07R Water hose 12.5', Braided 7-2 BL-1S Snap on swith holder
7-3 H-100 Handle, smooth 45V08R Water hose 25', Braided 7-3 H-200 Handle, smooth
7-4 SW-1 Swith w/round button 45V07 Water hose 12.5', Vinyl 7-4 SW-1 Swith w/round button
8 H-100R Handle, ribbed 45V08 Water hose 25', Vinyl 8 H-200R Handle, ribbed
9 45V11 Power cable adapter 10-2a D221.R Nipple 9 Power Cable 1PC
10 45V03R Power cable 12.5',Rubber 10-2b T-1254 Water hose Nut 5/8-18 LH 9-1 AR-05-008 Power adaptor D25 New(10-25m?)
45V04R Power cable 25',Rubber AR-05-009 Power adaptor D25 (35-50m?)

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.




CN/MWELD

TIG 26 CNAWELD

TIG TORCH-EURO

TIG TORCH-USA

i ——— 57Y(?

10N23/10N24/10N25 “ 57Y04

A ) _ I —— 57Y(?
~== 10N28| + _—

— +
10N23/10N24/10N25 “ 57Y04

9
11-1a 11-1b 11-1
No. Part No. Description No. Part No. Description
1 SR26F Flexible torch boby 10 46V28R 1pc.rubber power cable 12.5'
2 SR26 Torch body 46V30R 1pc.rubber power cable 25'
4 SR26FV Flexible torch body w/valve 10-1 T-2341 Power Nut, 7/8-14
5 SR26V Torch body w/valve 10-2 48N24L Power Cable Fitting
6 TIGCN Handle 11 46V28-2 2 pc. rubber power cable 12.5'
TIGCN Handle 46V30-2 2 pc. rubber power cable 25'
71 BS-1 Snap on swith holder 11-1 40V75R Gas hose 12.5' Braided
7-2 BS-1S Snap on swith holder 41V30R Gas hose 25' Braided
7-3 H-200 Handle, smooth 40V75 Gas hose 12.5' Vinyl
7-4 SW-1 Swith w/round button 41V30 Gas hose 25' Vinyl
8 H-200R Handle, ribbed 11-1a D221.R Cable Fitting
9 45V62 Power cable adapter 11-1b T-1255 Argon Nut 5/8-18RH

> C
11-1a 11-1b
&~ =
11-2a 11-2b 10-1 10
No. Part No. Description No. Part No. Description
1 SR26F Flexible torch boby 9-1 AR-05-008 Power adaptor D25 New(10-25m?)
2 SR26 Torch body AR-05-009 Power adaptor D25 New(35-50m?)
4 SR26FV Flexible torch body w/valve 10 Power Cable 2PC
5 SR26V Torch body w/valve 10-1 AR-05-003 Power adaptor (35-50m?)
6 TIGCN Handle AR-05-004 Power adaptor (50-70m?)
TIGCN Handle 11 Hose fitting
7-1 BS-1 Snap on swith holder 11-1a SR9-EU-1-04 Cable fitting
7-2 BS-1S Snap on swith holder 11-1b SR9-EU-1-05 Lock nut1/4G-19 Thd
7-3 H-200 Handle, smooth 11-2a SR18-EU-02 Cable fitting
7-4 SW-1 Swith w/round button 11-2b SR18-EU-01 Lock nut3/8G-19
8 H-200R Handle, ribbed
9 Power Cab le 1PC

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.




CN/MWELD

Alumina Cups =
P Collets,Collet Bodies : CNAWELD

Part No. Description Sketch Part No. Description Sketch Part No. Description Sketch Part No. Description Sketch
CN13N08 Aluminanozzle, 1/4” 1.D.,size 4 —
Al =]
CN13N09 Aluminanozzle, 5/16” 1.D., size 5 2 CN57N75L Aluminanozzle,3/8”1.D.,size6 ﬁ £ ”
CN13N10  Alumi le,3/8” 1.D., size 6 S CN57N74L  Aluminanozzle, 1/2°1D.,size8 o : onoe cotet. 020" B.5mn CNTON23S — Collet, 1/16" 1.6mm =
uminanozzle, .D.,size ) uminanozzle, .D.,size 1 - ” fr——————
CN13N11 Alumi le,7/16”1.D., size 7 s CN53N88L Aluminanozzle,5/8”1.D.,size 10 b—2 34— S colentin Tomm L _ CN10N24S Collet, 3/32"2.4mm e
uminanozzie, .D.,size , y 0., -~ 4 ” ”
_ o ‘ — 1-5732"—] : s CN13N22 Collet, 1/16” 1.6mm b — CN1ON25S Collet, 1/18" 3.2mm Torchos. 171826
CN13N12 Aluminanozzle, 1/2”1.D.,size 8 CN53N87L Aluminanozzle,3/4”1.D.,size 12 Torches: 9 17 1820 CN13N23 Collet, 3/32” 2.4mm orches:
Torches: 92025 25 26 27 ’ - Torches: 92025
CN13N13 Aluminanozzle, 5/8” 1.D., size 10 : CN13N24 Collet, 1/8”3.2mm
- - - CN85214 Collet ,1/16" 1.6mm
CN53N58 Aluminanozzle, 1/4”1.D., size 4 E CN57N75XL  Aluminanozzle,3/8”1.D.,size6 | DI E CN85Z15 Collet, 3/32" 2.4mm =
CN53N59 Aluminanozzle,5/16” I.D., size 5 © CN57N74XL  Aluminanozzle, 1/2”1.D.,size 8 - CN85Z16 Collet, 1/8" 3.2mm
< ”
CN53N60  Aluminanozzle,3/8” 1.D., size ® CN53N88XL  Aluminanozzle,5/8”1.D.,size 10 —s 1 —| CN13N20L  Collet,,020" 0.5mm CN85Z17 Collet, 5/32" 4.0mm [ 23/8" |
L, e ——————
CN53N61 Aluminanozzle, 7/16”1.D.,size 7 CN53N87XL  Aluminanozzle,3/4”1.D.,size 12 Torches: 9 17 1820 CN13N21L Collet,.040” 1.0mm e———— CN85218 Collet, 3/16"4.8mm Torches: 12
Torches: 92024 25 25 26 27 CN13N22L  Collet, 1/16” 1.6mm | 1-9/16” | CN85Z19 Collet , 1/4"6.35mm
CN13N23L Collet, 3/32"” 2.4mm Torches: 9 20 25
CN13N24L Collet, 1/8”3.2mm
CN10N50 Aluminanozzle, 1/4”1.D.,size 4
CN1ON49  Aluminanozzle,5/161.D.,size5 . CNoRgaliminanozzle, 12 QbEgize 2 CN13N25 Colletbody,. 020" 0. 5mm . -
. B . ! ) B
CN10N48  Aluminanozzle, 3/8”1D. size6 e CNSTNTXXL Alminanozzle,35"1.ize6 .o, | | e CN13N26  Colletbody,. 040" 1.0mm 5 E* s MIE
! " ” N - ” . ¢
CN1ON47  Aluminanozzle,7/16"1.D.,size7 e CNsaNgsXIRAllmInanozze, 5/871. DRgize 1R e | CON13N27 Colletbody, 1/16” 1.6mm 2|8 ;_ﬁw &
” ~ i 4 i 4 ” ”
CN1ON46  Aluminanozzle, 112”1, size8 TR [rseNeREERinanozZzeglg 0. SESE ! CN1ON21  Collet, 020" 0.5mm CN13N28 Colletbody, 3/32" 2.4mm /1" — ©
CN1ON45  Aluminanozzle,5/8”1.D.,size 10 Torches: 17 18 26 Torehes: 2 1 52" CN1ON22  Collet.040” 1.0mm c = CN13N29 Collet body, 1/8” 3.2mm Torches: 92025
CN10N44 Aluminanozzle,3/4”1.D.,size 12 CN10N23 Collet, 1/16” 1.6mm | |
-15/16"
CN10N24 Collet, 3/32” 2.4mm ! ' !
CN10N25 Collet, 1/8” 3.2mm Torches: 17 18 26
CN54N18 Aluminanozzle, 1/4” 1.D., size 4 CN54N20 Collet, 5/32" 4.0mm -
CN54N17 Aluminanozzle, 5/16” 1.D., size 5 E CNA53N23 Aluminanozzle, .165”1.D.,size 3 = E CN53N17 Colletbody, . 020" 0. 5mm E
- n ” N I o~
CN54N16  Aluminanozzle, 3/8” 1.D., size6 % CNAS53N24  Aluminanozzle, 1/4” 1D, size 4 o Ig CN53N18 Collet body, . 040" 1. Omm &
> =4 ~
CN54N15 Aluminanozzle, 7/16”1.D., size 7 5 gt gzisz:is 2:uminanozz:e,2//18(j;IE)D.,-sizzs |-5/8”—| NS CN53N19 Colletbody, 1/16” 1. 6mm I
CN54N14 Aluminanozzle, 1/2”1.D., size 8 ) 7 uminanozzle, -D.,size ”
: B Torches: 17 18 26 Torches: 24 CN24CB332 - Colletbody, 3/32" 2. 4mm Torches: 24 24W
CN54N19 Aluminanozzle, 11/16” 1.D.short
CN53N14 Collet, 1/16” 1.6mm ;
CN53N15 Collet,.020” 0.5mm 102"
CN53N16 Collet,. 040” 1.0mm
CN24C332  Collet, 3/32” 2.4mm Torches: 24 24W .
CN57N75 Aluminanozzle, 3/8” I.D., size 6 E CNA796F70 Aluminanozzle,.165”1.D.,size 3 E S
S
CN57N74 Aluminanozzle, 1/2”1.D., size 8 2 CNA796F71 Aluminanozzle, 1/4”1.D., size 4 i CN17CB20 Colletbody, 1/8” 3.2mm é
CN53N88 Aluminanozzle, 5/8” 1.D., size 10 , CNA796F72 Aluminanozzle,5/16”1.D.,size5 |_ 1.915” _| ® CN17CB332 Colletbody, 3/32” 2.4mm ©
|—17 7/ 8—|
CN53N87 Aluminanozzle, 3/4” 1.D., size 12 CNA796F73 Aluminanozzle,3/8”1.D., size 6 Torches: 92025
Torches: 17 18 26 Torches: 17 18 26
CN53N62 Collet,.020” 0.5mm :
CN53N63 Collet,.040” 1.0mm |_ 7/8" _| CN10N29 Collet body, . 020" 0. 5mm
E CNA796F74 Aluminanozzle,.165”1.D.,size 3 p E CN53N64 Collet, 1/16” 1.6mm CN10N30 Collet body, . 040” 1. Omm é é
CN10N49L Alumi le,5/16”1.D.,size5 |, p. ” . . =3
o Al“m'”a”mel o |§Ze ! Dl e CNAT96F75  Auminanozzle, 141D, size4 " DvIﬂIi CN24GLC332  Collet, 3/32” 2.4mm Torches: 24 24W CNTON3 Colletbody, 1/16” 1.6mm = 8
N ” N © «© xr "~
umina nozzie, 518 L0, size b o 1/ 3% |o= CNA796F76  Aluminanozzle,5/16”1.D.size5 | 1 2" | - CN10N32 Colletbody, 3/32” 2.4mm = =
CN10N47L Aluminanozzle,7/16”1.D.,size7 ! L ) , ) 4
Torches: 17 18 26 CNA796F77  Aluminanozzle,3/8”1.D.,size 6 Torches: 9 2025 CN10N28 Colletbody, 1/8” 3. 2mm Torches: 17 18 26
CN406488 Colletbody, 5/32” 4. 0mm
CN57N45 Colletfor27 torches,. 040" 1.0mm
CN57N46 Colletfor27torches, 1/16" 1.6mm R )
| R - - -
, . T = CN57N47 Colletfor27torches, 3/32" 2.4mm S 2 2
CN54N17L Aluminanozzle,5/16”1.D.,size 5 = | E e 2 | | E g
ONSANTEL  Alminanoszle 36710, ize6 " e |.D.I~I§ CN57N48 Colletfor27torches, 1/8" 3.2mm | -5/8" | b Y
, D, = i “ID.si ; e
) ) ) 3 CNA796F79  Aluminanozzle, 1/4”1.D.,size4 | o/ 16" | @ CN57N49 Colletfor27torches, 5/32" 4.0mm CN11WP65 Colletbody all sizes > 5
CN54N15L Aluminanozzle, 7/16”1.D.,size 7 | P | ! / o Torches: 27 ,
) ) f - 63/ 64 I CN57N50 Colletfor 27 torches, 3/16" 4.8mm ——
CN54N14L  Aluminanozzle, 1/2”1.D.,size 8 Torches: 17 18 2 Torches: 92025
orches: 826 CN57N51 Colletfor 27 torches, 1/4" 6.35mm Torches: 12
The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones. trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer. CNAWELD is no way affiliated with any orginal manufacturer.



CN/MWELD

Gas Lens,Extra Large Gas Lens,Power Cable Adapters&Back Caps

Back Cap, Valve Stem & Insulator, Switch*

CNAWELD

Part No. Description Sketch Part No. Description Sketch
CN11GL16  Gaslens, 1/16” 1.6mm - E
CN11GL332 Gaslens, 3/32” 2.4mm 'é f 5/8-18 Thd.
CN11GL18  Gaslens, 1/8”3.2mm - § 105257 Power Cable Adapters
CN11GL53  Gaslens, 5/32” 4.0mm , 1
' — 112" — 3/8*244&
CN11GL36  Gaslens, 3/16” 4.8mm
Torches: 12 Torches: 917
» , o |
CN45Vv41 Gaslensbody,.020” 0. 5mm E M £ ) | 5/8-18 L. H. Thd
| 040" 1. e -~ 4 {
CN45Vv42 Gaslens body,. 040" 1.0mm i Ty nm 8
CN45Vv43 Gas lens body, 1/16” 1.6mm > A~ by 45V11 Power Cable Adapters
CN45V44 Gas lens body, 3/32” 2.4mm |_ 7/8" _| .
CN45V45  Gaslensbody,1/8” 3.2mm Torches: 920 24 25 /el H
: Torches: 12 18 20
24W 25
CN45V29 Gaslensbody,.020” 0. 5mm
CN45V24  Gaslensbody, 0407 1.0mm &~ (S i e, | £ .
v ’ ‘QI% e - B | 5/8-18 Thd.
CN45V25  Gaslensbody, 1/16” 1.6mm 3 W ;
Y B S 45V62 Power Cable Adapters
CN45Vv26 Gaslensbody, 3/32” 2.4mm |—1-15/16”—|
CN45Vv27 Gaslensbody, 1/8” 3.2mm Torches: 17 18 26 7/8-14Thd, R
CN45V28 Gaslensbody, 5/32” 4.0mm
Torches: 26
°
2 =
CN45V116S  Extralarge stubby gaslens, 1/16” 1.6mm '§ J 5/8-18 Thd.
| «©
CN45V64S  Extralarge stubby gaslens, 3/32” 24mm  — | | = o 3 53N43 Power Cable Adapters
CN995795S  Extralarge stubbygaslens, 1/8” 3.2mm ”
}— 1-5/8 —|
/ 3/8-24 Thd.
Torches: 92025 Torches: 24
2 °
CN45V116 Extralargegaslens, 1/16” 1.6mm k£ E 5/16-24Thd
@ -
Extalrgegesiens, 352” 24mm & : R ———
CN45V64 xtralarge gaslens ? mm € CNATV24 Longback cap I I
CN995795 Extralarge gaslens, 1/8” 3.2mm 115/16" } 5-3/4 |
CN45V63 Extralarge gaslens,5/32” 4.0mm Torches: 9 20
Torches: 17 18 26
CN49V22 Extralarge gas lens, . 040" 1. 0mm 1-16Thd
CN49Vv23 Extralargegaslens, 1/16” 1. 6mm 5/16-24Thd
CN49V24 Extralargegaslens, 3/32” 2. 4mm b
CN49Vv25 Extralargegaslens, 1/8” 3. 2mm CN41V35 Med.back cap

CN49V26 Extralargegaslens, 5/32” 4. 0mm
CN49v27 Extralarge gas lens, 3/16" 4.8mm
CN49Vv28 Extralarge gaslens, 1/4” 6.35mm

b— 258" ——]

Torches: 17 18 26

19—

Torches: 920

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer.

Part No. Description Sketch Part No. Description Sketch
5/16-24Thd
Y 0. 75’I :|E 87"
CN41v33 Shortback cap CN18CG Cup gasket :
0.67” 0.43
Torches: 9 20 Torches: 17 18 26
3/8-32Thd
CN57Y02 Longback cap | | CN54N63-20 Large diam.gas lens insulator -
4-3/4”
I 1 —
0.55
Torches: 17 18 26 Torches: 920 25
3/8-32Thd
h\ 12" E 92"
CN300M Med.back cap - CN54N63 Large diam.gas lensinsulator
K 0.61”
Torches: 17 18 26 Torches: 1718 26
3/8-32Thd
“ 0. 68’]: 0.88"
CN57Y04 Shortback cap CN54N01 Gaslensinsulator :
g 0.53"
Torches: 17 18 26 Torches: 17 18 26
CNVS-1 Valve Stem 4 CNSW-1 Switch (momentary)w/round button k
Torches: 18 26
CNVS-2 Valve Stem . CNSW-2 Switch (OffOn)wifat button p
Torches: 917
20 24
0. SGI IJ 72"
CN598882 Cup gasket — CNSW-1F Switch (momentary)w/flat button ﬁ

0.28”
Torches: 92025

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

P14




CN/MWELD

CNAWELD

Cable Covers,Handle & Accessory Kits Machine Plugs

Part No. Description Sketch Part No. Description Sketch Part No. Description Sketch Part No. Description Sketch
M8%1
XSHT-HE21x19 BL-1S Snap on switch holder )
25mm’Female AR-05-001-2
Rubber and Plastic Sheath HJJT BEM25 Panel Socket ! Male and female Dinse
XSHT-HE26x24 Torches: 17 18 26 type cable connectors M8x 1
XSHT-HE21x19 Torches: 917 20 (10-25mm?°) &ﬂ
AR-05-001-1
XSHT-HE26x24 Torches: 18 26 W {
.600 1.D.
H-100 Smooth —
. . 1 ” |
CC-3-10 Zipper Nylon 10in I 5 | T BES070 50-70mm?Female
CC-3-22 Zipper Nylon 22in Torches: 92025 Panel Socket
CC-3-48 Zipper Nylon 48in AR-05-002-2 ,
Male and female Dinse
type cable connectors
B M10X1.5
(16-35mm?)
600 1.D. AR-05-002-1 m
H-100R Ribbed *
| 4 |
f 5 1 "
Zi Nylon 10i Torches: 920 25 \
CC-4-10 fpper ylon 0!” HT BET0.65 70-95mm?Female
CC-4-22 Zipper Nylon 22in Panel Socket
CC-4-48 Zipper Nylon 48in
M10X1.5
885 1.D. P — L
AR-05-003-2 i |
Male and female Dinse
H-200 Smooth type cable connectors MI0X15
| L | (35-50mm?) > .
I 5-3/4 | AR-05-003-1 [ -
Torches: 17 18 26 r
, 25mm’ Male
BS-1 Snap on switch holder HJJT SEM25
Panel Socket
Torches: 920 25 885 1D,
H-200R Ribbed “ M8
| 534" |
AR-05-004-2
Torches: 17 18 26 Male and female Dinse
type cable connectors M12X1.5
(50-70mm?)
AR-05-004-1
50-70mm’ Male
BS-1S Snap on switch holder HJJT SE50-70
Panel Socket
Torches: 92025 PCA-BA-5 )
Accessory Kits
PCA-Z-ZJ 5/8-18Thd 3/8-24Thd
Torches: 917
M12X1.5
AR-05-005-2 .
Male and female Dinse
type cable connectors
70-95mm’*Male > M12%1.5
BL-1 Snap on switch holder HJJT SE70-95 (70-95mm°) -
PCA-BA-5 Accessory Kits ) Panel Socket AR-05-005-1 &
PCA-BA-ZJ 5/8-18Thd M
Torches: 17 18 26 \ =
.
k=
Torches: 917 26
The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones. trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer. CNAWELD is no way affiliated with any orginal manufacturer.



CN/MWELD

CNAWELD

Normal Torch Terminations y

Please indiate the length, torch termination, and cable cover type, when ordering complete torch
WP-9, WP-9F, WP-9V, WP-9FV, & WP-17, WP-17F, WP-17V, WP-17FV, Torch Terminations(Cable and Gas Separate )

Normal Torch Terminations

Please indiate the length, torch termination, and cable cover type, when ordering complete torch
WP-9, WP-9F, WP-9V, WP-9FV, & WP-17, WP-17F, WP-17V, WP-17FV, Torch Terminations(Cable and Gas Whole)

P17

Part No. Description Sketch Part No. Description Sketch
1 Cable Assembly Cover, For 2 1 Cable Assembly Cover, For (a)
4M(12.5 feet), Rubber/Jean ) 4M(12.5 feet), Rubber/Jean (®)
Cable Assembly Cover, For O Cable Assembly Cover, For
8M(25 feet), Rubber/Jean ! 8M(25 feet), Rubber/Jean Cable Lug
M16x1.5 00a0
2 Control Wire i 1 / 2 Control Wire min
3 Cable 10mm?, 4M(12.5 feet) M16x1. 55486 3 1 / 3 Cable 16mm?, 4M(12.5 feet)
Cable 10mm?, 8M(25 feet) Cable 16mm?, 8M(25 feet) '
M16x1.5 (4 1}
4 Nut Cup(SW19) 4 4 Nut Cup(SW19) 4
Part No. Description Sketch Part No. Description Sketch
1 Cable Assembly Cover, For @) 2 1 Cable Assembly Cover, For (®)
4M(12.5 feet), Rubber/Jean ®) 3 1 4M(12.5 feet), Rubber/Jean ()
K 7.7 3
Cable Assembly Cover, For 10 \ Cable Assembly Cover, For i —
i \ &78 |
8M(25 feet), Rubber/Jean ©13 |:| 8M(25 feet), Rubber/Jean * e —
! ic 162
2 Control Wire 2 Control Wire Boniestc 16 \
Euro 35-50° 1
3 Cable 10mm?, 4M(12.5 feet) g 3 Cable 16mm?, 4M(12.5 feet)
1 ) M16x1.5
Cable 10mm?, 8M(25 feet) M10x1 | | ﬂ - Cable 16mm?, 8M(25 feet) !
I
M10x1 S48 4 Nut Cup(SW19) 4 Wéx1. 558
Part No. Description Sketch Part No. Description Sketch
1 Cable Assembly Cover, For 1 Cable Assembly Cover, For O
4M(12.5 feet), Rubber/Jean @) 2 4M(12.5 feet), Rubber/Jean (@)
10
Cable Assembly Cover, For @) Cable Assembly Cover, For
13
8M(25 feet), Rubber/Jean 1 8M(25 feet), Rubber/Jean
2 Control Wire 5/6-18 UFJF i H \ 2 Control Wire
3 Cable 10mm?, 4M(12.5 feet) s ; \ 3 Cable 16mm?2, 4M(12.5 feet)
HPYREHEL 3 1
Cable 10mm?, 8M(25 feet) Cable 16mm?, 8M(25 feet)
4 Nut Cup(SW19) 4
Part No. Description Sketch Part No. Description Sketch
1 Cable Assembly Cover, For 1 Cable Assembly Cover, For G
4M(12.5 feet), Rubber/Jean 4M(12.5 feet), Rubber/Jean @
Cable Assembly Cover, For Cable Assembly Cover, For
8M(25 feet), Rubber/Jean 8M(25 feet), Rubber/Jean
Cable Lug '\
2 Control Wire / 2 Control Wire Him \
3 Cable 10mm?, 4M(12.5 feet) / 3 Cable 16mm?2, 4M(12.5 feet) 1
Cable 10mm?, 8M(25 feet) 1 Cable 16mm?, 8M(25 feet) siz-18UNF (| [
*Eﬂlﬁ:%iﬁ-}

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.




CN/MWELD

Normal Torch Terminations

WP-18, WP-18F, WP-18V, WP-18P, YT-308TW, YT-50TSW2 Torch Terminations
WP-18 & BW-308TW & BW-50TSW2

Part No. Description Sketch
1 Cable Assembly Cover, For 2
1
4M(12.5 feet), Rubber/Jean Water M16x1.5 !
Cable Assembly Cover, For 5 M15x1_5*¢i:_;b|'m{-;g\.
8M(25 feet), Rubber/Jean
2 Control Wire q
Water M16x1.5 |
3 Cable 8mm?, 4M(12.5 feet) 5 M16x1.57K 8% 1}
i
Cable 8mm?, 8M(25 feet) Gas M16x1.5 3
4 Cable Adapter 5 . .
5 M16x1.5 (8
5 Nut Cup(SW19)
Part No. Description Sketch
1 Cable Assembly Cover, For
© 2
4M(12.5 feet), Rubber/Jean ®
Cable Assembly Cover, For
Gas 5/8-18 UNF
8M(25 feet), Rubber/Jean LIt
2 ControliWire Water 7/8-14 UNF L.H. [ "
AT R A L
3 Cable 8mm?, 4M(12.5 feet) /
Water 5/8-18 UNF L.H. 1
Cable 8mm?, 8M(25 feet) Fem) A 3
Part No. Description Sketch
1 Cable Assembly Cover, For
4M(12.5 feet), Rubber/Jean
Cable Assembly Cover, For
8M(25 feet), Rubber/Jean
2 Control Wire
3 Cable 8mm?, 4M(12.5 feet)
Cable 8mm?, 8M(25 feet)
Water M12x1 [
Part No. Description Sketch
1 Cable Assembly Cover, For
4M(12.5 feet), Rubber/Jean
Cable Assembly Cover, For
8M(25 feet), Rubber/Jean
2 Plug 2-Pin, Panasonic
3 Cable 8mm?, 4M(12.5 feet)
Cable 8mm?, 8M(25 feet)
6
4 Cable Adapter
5 Nut Cup(SW17)
6 Nut Cup(SW19) HF A i

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

Normal Torch Terminations

WP-20, WP-20F, WP-20P Torch Terminations

CNAWELD

Part No. Description Sketch
1 Cable Assembly Cover, For
4M(12.5 feet), Rubber/Jean
Water M16x1. 5
Cable Assembly Cover, For 1
5 M16x1. SRRk
8M(25 feet), Rubber/Jean
2 Control Wire
Gas M16x1.5
3 Cable 4mm2, 4M(12.5 feet)
5 M1Ex1. 5A{H
Cable 4mm?, 8M(25 feet) -
Water M16x1.5
4 Cable Adapter
5 M16x1. 5K}
5 Nut Cup(SW19)
Part No. Description Sketch
1 Cable Assembly Cover, For
®
4M(12.5 feet), Rubber/Jean o
Cable Assembly Cover, For
8M(25 feet), Rubber/J Cas PO MF
(25 feqfRperJean Rk
2 Gnirol Wirg Water 7/8-14 UNF L.H. Hi a
3 Cable 4mm?, 4M(12.5 feet) IR /
Cable 4mm?, 8M(25 feet) Water 5/8-18 UNF L.H. I
ESIE S 28
Part No. Description Sketch
1 Cable Assembly Cover, For
4M(12.5 feet), Leather/Jean 4
Cable Assembly Cover, For
—
8M(25 feet), Leather/Jean Gas 9/16-18 UNF{[_]
#F
2 Plug 2-Pin, Panasonic i i
Water 7/8-14 UNF
3 Cable 4mm?, 4M(12.5 feet) = E
5 otchkan |
Cable 4mm?, 8M(25 feet) |
4 Nut Cup(SW17) Water 5/8-18 UNF
5 Nut Cup(SW19) Lol
Part No. Description Sketch
1 Cable Assembly Cover, For )
4M(12.5 feet), Rubber/Jean 1
Gas M10x1 [
Cable Assembly Cover, For 10
8M(25 feet), Rubber/Jean o
3
2 Control Wire
Euro 35-30°
3 Cable 4mm2, 4M(12.5 feet)

Cable 4mm?, 8M(25 feet)

1
Water M12x1

Water M 1_2|x1

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer.

P20




CN/MWELD

Normal Torch Terminations

WP-26, WP-26F, WP-26V, WP-26FV, WP-26P Torch Terminations(Cable and Gas Whole)

Part No.

Description

Sketch

Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

Control Wire

Cable 14mm?, 4M(12.5 feet)

Cable 14mm?, 8M(25 feet)

Nut Cup(SW19)

2

' \ -
M16x1.5 ooog /

I
M16x1. 54THE B} /

Part No.

Description

Sketch

Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

Control Wire

Cable 14mm?, 4M(12.5 feet)

Cable 14mm?, 8M(25 feet)

1 L) 3
miex1s [ [T
o

N16x1. 5°THREE

Part No.

Description

Sketch

Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

Control Wire

Cable 14mm?, 4M(12.5 feet)

Cable 14mm?, 8M(25 feet)

1
\
5/8-18 UNF 0000
L A

IR

Part No.

Description

Sketch

Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

Control Wire

Cable 14mm?, 4M(12.5 feet)

Cable 14mm?, 8M(25 feet)

Gas 7/8-14 UNF n

RISk :.

P21

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

Normal Torch Terminations

WP-20, WP-20F, WP-20P Torch Terminations

CNAWELD

Part No. Description

Sketch

1 Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

2 Plug 2-Pin, Panasonic

3 Cable 14mm?, 4M(12.5 feet) 14mm?

Cable 14mm?, 8M(25 feet) 14mm?

4 Cable Adapter

5 Nut Cup(SW17)

R

9/16-18 UNF

HF e}

OTC A Fiibl.‘&‘fiﬁ\

3

WP-26, WP-26F, WP-26V, WP-26FV, WP-26P Torch Terminations(Cable and Gas Separate)

Part No. Description

Sketch

1 Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

4M(12.5 feet), Rubber/Jean

Cable Assembly Cover, For

8M(25 feet), Rubber/Jean

2 Control Wire

3 Cable 25mm?, 4M(12.5 feet)

Cable 25mm?, 8M(25 feet)

8M(25 feet), Rubber/Jean por. O
2 Control Wire 3 1
3 Cable 25mm?2, 4M(12.5 feet) M1 6x1j.5_
Cable 25mm?, 8M(25 feet) M16x1. ;’:im
4 Nut Cup(SW19) 4
Part No. Description Sketch
1 Cable Assembly Cover, For

M16xl. 54
4 Nut Cup(SW19) 4
Part No. Description Sketch
1 Cable Assembly Cover, For
o
4M(12.5 feet), Rubber/Jean 2
o
Cable Assembly Cover, For
8M(25 feet), Rubber/Jean Cable Lug O ] ) {
Min %
2 Control Wire 3 \
3 Cable 25mm2, 4M(12.5 feet) I
Cable 25mm2, 8M(25 feet) 5/8-18 UNF
stz

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer.

P22




CN/MWELD

CNAWELD

Normal Torch Terminations

WP-12, & WP-27 Torch Terminations

Control Wire Plugs

Part No. Description Sketch
1 Cable Assembly Cover, For
4M(12.5 feet), Rubber/Jean Water M161K1 501 .
Cable Assembly Cover, For 5 M16x1, 57 8 i I
8M(25 feet), Rubber/Jean
Female Male Male Female Female Male
2 Control Wire
Gas M16x1.5 L o L i
3 Cable 12mm?, 4M(12.5 feet) 5 as Order Description Order Description Order Description Order Description
! . M16x1.5" (&1}
Cable 12mme, 8M(25 feet) water Mi6x1.5 [ 32081451 4-Pin Plug 32081452 6-Pin Plug 32081453 7-Pin Plug 32081454 10-Pin Plug
4 Cable Adapter 5 M16x1.57K 86}
5 Nut Cup(SW19)
Part No. Description Sketch
! Cable Assembly Cover, For G Female Male Male Female Male Female
4M(12.5 feet), Rubber/Jean
Qo Order Description Order Description Order Description Order Description
Cable Assembly Cover, For
Gas 5/8-18 UNF 32081455 14-Pin Plug 32081456 19-Pin Plug 32081457 Pana 2-Pin Plug 32081458 Pana 9-Pin Plug
8M(25 feet), Rubber/Jean TR ‘i_
2 Control Wire Water 7/8-14 UNF L.H. 1
3 Cable 12mme, 4M(12.5 feet) APURARHEE | 7
Water 5/8-18 UNF L.H. 1
Cable 12mm?, 8M(25 feet) — 3
Female Female Female Female
Part No. Description Sketch
Order Description Order Description Order Description Order Description
1 Cable Assembly Cover, For
32081459 Pana 2-Pin Plug 320814510 Pana 3-Pin Plug 320814511 Daiden 2-Pin Plug 320814512 Pana Small 2-pin plug
4M(12.5 feet), Rubber/Jean
Cable Assembly Cover, For 10
8M(25 feet), Rubber/Jean mi+3 ¥
2 Control Wire +
-
3 Cable 12mm?, 4M(12.5 feet) — h
Water M12c1 | - -
Cable 12mm2, 8M(25 feet) - Male Female Male
Water M12x1 El
Order Description Order Description Order Description
320814513 4-Pin Aviation Plug 320814514 4-Pin Aviation Plug 320814515 Mill, 4-Pin Plug
Part No. Description Sketch
1 Cable Assembly Cover, For 5 E l h C I
4M(12.5 feet), Rubber/Jean \E a a m p
Cable Assembly Cover, For |
8M(25 feet), Rubber/Jean Gas 9/16-18 UNF{_]
2 Plug 2-Pin, Panasonic a
3 Cable 12mm2, 4M(12.5 feet) E
Cable 12mm?, 8M(25 feet) kR
4 Cable Adapter Water 5/8-18 UNF .
5 Nut Cup(SW17) LTI Order Part No. Description Order Part No. Description Order Part No. Description
6 Nut Cup(SW19) AR U 32081441 300A Earth Clamp 32081442 400A Earth Clamp 32081443 500A Earth Clamp

P23 P24

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones. trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer. CNAWELD is no way affiliated with any orginal manufacturer.




P25

CN/MWELD

Tungsten Electrodes

Tungsten Electrodes

CNAWELD

Code Description Pack
CNO0006-10 Pure tungsten ¢ 1.0x150mm Green; 10
CNO0006-16 Pure tungsten ¢ 1.6x150mm Green; 10
CNO0006-20 Pure tungsten ¢ 2.0x150mm Green; 10
CNO0006-24 Pure tungsten ¢ 2.4x150mm Green; 10
CNO0006-30 Pure tungsten ¢ 3.0x150mm Green; 10
CNO0006-32 Pure tungsten ¢ 3.2x150mm Green; 10
CNO0006-40 Pure tungsten ¢ 4.0x150mm Green; 10
CN0006-48 Pure tungsten ¢ 4.8x150mm Green; 10
CNO0007-10 Pure tungsten ¢ 1.0x175mm Green; 10
CNO0007-16 Pure tungsten ¢ 1.6x175mm Green; 10
CNO0007-20 Pure tungsten ¢ 2.0x175mm Green; 10
CNO0007-24 Pure tungsten ¢ 2.4x175mm Green; 10
CNO0006-30 Pure tungsten ¢ 3.0x175mm Green; 10
CNO0007-32 Pure tungsten ¢ 3.2x175mm Green; 10
CNO0007-40 Pure tungsten ¢ 4.0x175mm Green; 10
CNO0007-48 Pure tungsten ¢ 4.8x175mm Green; 10
CNO0007-64 Pure tungsten ¢ 6.4x175mm Green; 10
CNO0008-10 Tungsten Th WT20 ¢ 1.0x150mm Red; 10
CNO0008-16 Tungsten Th WT20 ¢ 1.6x150mm Red; 10
CNO0008-20 Tungsten Th WT20 ¢ 2.0x150mm Red; 10
CNO0008-24 Tungsten Th WT20 ¢ 2.4x150mm Red; 10
CN0008-30 Tungsten Th WT20 ¢ 3.0x150mm Red; 10
CN0008-32 Tungsten Th WT20 ¢ 3.2x150mm Red; 10
CNO0008-40 Tungsten Th WT20 ¢ 4.0x150mm Red; 10
CNO0008-48 Tungsten Th WT20 ¢ 4.8x150mm Red; 10
CNO0009-10 Tungsten Th WT20 ¢ 1.0x175mm Red; 10
CNO0009-16 Tungsten Th WT20 ¢ 1.6x175mm Red; 10
CNO0009-20 Tungsten Th WT20 ¢ 2.0x175mm Red; 10
CN0009-24 Tungsten Th WT20 ¢ 2.4x175mm Red; 10
CNO0009-30 Tungsten Th WT20 ¢ 3.0x175mm Red; 10
CNO0009-32 Tungsten Th WT20 ¢ 3.2x175mm Red; 10
CNO0009-40 Tungsten Th WT20 ¢ 4.0x175mm Red; 10
CNO0009-48 Tungsten Th WT20 ¢ 4.8x175mm Red; 10
CN0009-64 Tungsten Th WT20 ¢ 6.4x175mm Red; 10
CN0005-10 Tungsten Th WT20 ¢ 1.0x178mm Red; 10
CNO0005-16 Tungsten Th WT20 ¢ 1.6x178mm Red; 10
CNO0005-20 Tungsten Th WT20 ¢ 2.0x178mm Red; 10
CNO0005-24 Tungsten Th WT20 ¢ 2.4x178mm Red; 10
CNO0005-30 Tungsten Th WT20 ¢ 3.0x178mm Red; 10
CN0005-32 Tungsten Th WT20 ¢ 3.2x178mm Red; 10
CNO0005-40 Tungsten Th WT20 ¢ 4.0x178mm Red; 10
CNO0005-48 Tungsten Th WT20 ¢ 4.8x178mm Red; 10
CNO0005-64 Tungsten Th WT20 ¢ 6.4x178mm Red; 10
CN0002-10 Tungsten Ce WC20 ¢ 1.0x150mm Grey; 10
CN0002-16 Tungsten Ce WC20 ¢ 1.6x150mm Grey 10
CNO0002-20 Tungsten Ce WC20 ¢ 2.0x150mm Grey 10
CNO0002-24 Tungsten Ce WC20 ¢ 2.4x150mm Grey 10
CN0002-30 Tungsten Ce WC20 ¢ 3.0x150mm Grey 10
CN0002-32 Tungsten Ce WC20 ¢ 3.2x150mm Grey 10
CN0002-40 Tungsten Ce WC20 ¢ 4.0x150mm Grey 10
CN0002-48 Tungsten Ce WC20 ¢ 4.8x150mm Grey 10
CNO0002-64 Tungsten Ce WC20 ¢ 6.4x150mm Grey 10
CN0003-10 Tungsten Ce WC20 ¢ 1.0x175mm Grey; 10
CNO0003-16 Tungsten Ce WC20 ¢ 1.6x175mm Grey 10
CNO0003-20 Tungsten Ce WC20 ¢ 2.0x175mm Grey 10
CNO0003-24 Tungsten Ce WC20 ¢ 2.4x175mm Grey 10
CNO0003-30 Tungsten Ce WC20 ¢ 3.0x175mm Grey 10
CN0003-32 Tungsten Ce WC20 ¢ 3.2x175mm Grey 10
CNO0003-40 Tungsten Ce WC20 ¢ 4.0x175mm Grey 10
CNO0003-48 Tungsten Ce WC20 ¢ 4.8x175mm Grey 10
CNO0003-64 Tungsten Ce WC20 ¢ 6.4x175mm Grey 10

Code Description Pack Code Description Pack

CNO001-10 Tungsten Zr WZ8 ¢ 1.0x175mm White: 10 CN0061-10 Tungsten La WL 20 ¢ 1.0x150mm Bluei 10

CN0001-16 Tungsten Zr WZ8 ¢ 1.6x175mm White 10 CN0061-16 Tungsten La WL 20 ¢ 1.6x150mm Blue; 10

CN0001-24 Tungsten Zr WZ8 ¢ 2.4x175mm White 10 CN0061-20 Tungsten La WL 20 ¢ 2.0x150mm Blue; 10

CN0001-32 Tungsten Zr WZ8 ¢ 3.2x175mm White 10 CNO0061-24 Tungsten La WL 20 ¢ 2.4x150mm Bluer 10

CNO001-40 Tungsten Zr WZ8 ¢ 4.0x175mm White 10 CN0061-32 Tungsten La WL 20 ¢ 3.2x150mm Blue; 10

. CN0061-40 Tungsten La WL 20 ¢ 4.0x150mm Blue; 10

CNO0001-48 Tungsten Zr WZ8 ¢ 4.8x175mm White 10 ’

CNO001-64 Tungsten Zr WZ8 ¢ 6.4x175mm White 10 CN0061-48 Tungsten La WL 20 ¢ 4.8x150mm Blue; 10
CN0061-64 Tungsten La WL 20 ¢ 6.4x150mm Blue; 10

CN0004-10 Tungsten Th WT10 ¢ 1.0x150mm Yellow; 10 CN0062-10 Tungsten La WL 10 ¢ 1.0x175mm Black; 10

CNO0004-16 Tungsten Th WT10 ¢ 1.6x150mm Yellow; 10 CNO0062-16 Tungsten La WL 10 ¢ 1.6x175mm Black; 10

CNO0004-20 Tungsten Th WT10 ¢ 2.0x150mm Yellow; 10 CN0062-24 Tungsten La WL 10 ¢ 2.4x175mm Black; 10

CNO0004-24 Tungsten Th WT10 ¢ 2.4x150mm Yellow; 10 CN0062-32 Tungsten La WL 10 ¢ 3.2x175mm Black; 10

CNO0004-30 Tungsten Th WT10 ¢ 3.0x150mm Yellow; 10 CNO0062-40 Tungsten La WL 10 ¢ 4.0x175mm Black; 10

CN0004-32 Tungsten Th WT10 ¢ 3.2x150mm Yellow; 10 CN0062-48 Tungsten La WL 10 ¢ 4.8x175mm Black; 10

CN0004-40 Tungsten Th WT10 ¢ 4.0x150mm Yellow; 10 CNO0062-64 Tungsten La WL 10 ¢ 6.4x175mm Black; 10

CN0004-48 Tungsten Th WT10 ¢ 4.8x150mm Yellow; 10 CNO0062-80 Tungsten La WL 10 ¢ 8.0x175mm Black; 10

CN0060-10 Tungsten Th WT10 ¢ 1.0x175mm Yellow; 10 I CNO0063-80 Tungsten La WL 10 ¢ 8.0x85mm Black; 10

CNO0060-16 Tungsten Th WT10 ¢ 1.6x175mm Yellow; 10

CN0060-20 Tungsten Th WT10 ¢ 2.0x175mm Yellow; 10 CNO0064-16 Tungsten La WL 10 ¢ 1.6x150mm Black; 10

CNO0060-24 Tungsten Th WT10 ¢ 2.4x175mm Yellow; 10 CNO0064-24 Tungsten La WL 10 ¢ 2.4x150mm Black; 10

CNO0060-30 Tungsten Th WT10 ¢ 3.0x175mm Yellow; 10 CNO0064-32 Tungsten La WL 10 ¢ 3.2x150mm Black; 10

CNO0060-32 Tungsten Th WT10 ¢ 3.2x175mm Yellow; 10

CNO0060-40 Tungsten Th WT10 ¢ 4.0x175mm Yellow; 10

CNO0060-48 Tungsten Th WT10 ¢ 4.8x175mm Yellow; 10

CNO0066-05 Tungsten Th WT10 ¢ 0.5x75mm Yellow; 10
CNO0070-10 Tungsten La WR2 ¢ 1.0x175mm Emerald; 10
CN0070-16 Tungsten La WR2 ¢ 1.6x175mm Emerald 10
CNO0070-24 Tungsten La WR2 ¢ 2.4x175mm Emerald 10
CNO0070-32 Tungsten La WR2 ¢ 3.2x175mm Emerald 10

CNO0067-10 Tungsten Th WT40 ¢ 1.0x175mm Orange; 10 CN0070-40 Tungsten La WR2 ¢ 4.0x175mm Emerald 10

CNO0067-16 Tungsten Th WT40 ¢ 1.6x175mm Orange; 10 CN0070-48 Tungsten La WR2 ¢ 4.8x175mm Emerald 10

CNO0067-20 Tungsten Th WT40 ¢ 2.0x175mm Orange; 10

CNO0067-24 Tungsten Th WT40 ¢ 2.4x175mm Orange; 10

CNO0067-30 Tungsten Th WT40 ¢ 3.0x175mm Orange; 10

CNO0067-32 Tungsten Th WT40 ¢ 3.2x175mm Orange; 10

CNO0067-40 Tungsten Th WT40 ¢ 4.0x175mm Orange; 10

CNO0067-48 Tungsten Th WT40 ¢ 4.8x175mm Orange; 10

CNO0068-10 Tungsten La WL15 ¢ 1.0x150mm Gold; 10

CNO0068-16 Tungsten La WL15 ¢ 1.6x150mm Gold; 10

CNO0068-20 Tungsten La WL15 ¢ 2.0x150mm Gold; 10

CNO0068-24 Tungsten La WL15 ¢ 2.4x150mm Gold; 10

CNO0068-32 Tungsten La WL15 ¢ 3.2x150mm Gold; 10

CN0068-40 Tungsten La WL15 ¢ 4.0x150mm Gold; 10

CNO0068-48 Tungsten La WL15 ¢ 4.8x150mm Gold; 10

CNO0069-10 Tungsten La WL15 ¢ 1.0x175mm Gold; 10

CN0069-16 Tungsten La WL15 ¢ 1.6x175mm Gold; 10

CNO0069-20 Tungsten La WL15 ¢ 2.0x175mm Gold; 10

CNO0069-24 Tungsten La WL15 ¢ 2.4x175mm Gold; 10

CN0069-32 Tungsten La WL15 ¢ 3.2x175mm Gold; 10

CN0069-40 Tungsten La WL15 ¢ 4.0x175mm Gold; 10

CNO0069-48 Tungsten La WL15 ¢ 4.8x175mm Gold; 10

CNO0065-10 Tungsten La WL 20 ¢ 1.0x175mm Blue; 10

CNO0065-16 Tungsten La WL 20 ¢ 1.6x175mm Blue; 10

CN0065-20 Tungsten La WL 20 ¢ 2.0x175mm Blue; 10

CNO0065-24 Tungsten La WL 20 ¢ 2.4x175mm Blue; 10

CN0065-32 Tungsten La WL 20 ¢ 3.2x175mm Blue; 10

CNO0065-40 Tungsten La WL 20 ¢ 4.0x175mm Blue; 10

CNO0065-48 Tungsten La WL 20 ¢ 4.8x175mm Blue; 10

CNO0065-64 Tungsten La WL 20 ¢ 6.4x175mm Blue; 10

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and
trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.
CNAWELD is no way affiliated with any orginal manufacturer.

The use of the original manufacturers' part numbers, and/or any manufacturer's registered or unregistered trade names and

trademarks are for REFERENCE ONLY. The above-mentioned parts are made by and for CNAWELD,not genuine ones.

CNAWELD is no way affiliated with any orginal manufacturer.




